

CERTAIN SUMMATION FORMULAS DUE TO RAMANUJAN AND THEIR GENERALIZATIONS

ARJUN K. RATHIE, SHALOO MALANI,
RACHANA MATHUR, AND JUNESANG CHOI

ABSTRACT. The authors aim at deriving four generalized summation formulas, which, upon specializing their parameters, give many summation identities including, especially, the four very interesting summation formulas due to Ramanujan. The results are derived with the help of generalized Dixon's theorem obtained earlier by Lavoie, Grondin, Rathie, and Arora.

1. Introduction and the main results

Recently Lavoie et al.[4] have obtained a large number of interesting summation formulas contiguous to Dixon's theorem (cf. [5, p.250, Eq.(4)] in the following form:

$$\begin{aligned}
 (1.1) \quad & {}_3F_2 \left(\begin{matrix} a, & b, & c \\ 1+i+a-b, & 1+i+j+a-c & \mid 1 \end{matrix} \right) \\
 = & \frac{2^{-2c+i+j} \Gamma(1+i+a-b) \Gamma(1+i+j+a-c) \Gamma(b-i) \Gamma(c-i-j)}{\Gamma(a-2c+i+j+1) \Gamma(a-b-c+i+j+1) \Gamma(b) \Gamma(c)} \\
 & \cdot \left[A_{i,j} \frac{\Gamma\left(\frac{a+1}{2} - c + \left[\frac{i+j+1}{2}\right]\right) \Gamma\left(\frac{a}{2} - b - c + 1 + i + \left[\frac{j+1}{2}\right]\right)}{\Gamma\left(\frac{a+1}{2}\right) \Gamma\left(\frac{a}{2} - b + 1 + \left[\frac{i}{2}\right]\right)} \right. \\
 & \quad \left. + B_{i,j} \frac{\Gamma\left(\frac{a}{2} - c + 1 + \left[\frac{i+j}{2}\right]\right) \Gamma\left(\frac{a}{2} - b - c + \frac{3}{2} + i + \left[\frac{j}{2}\right]\right)}{\Gamma\left(\frac{a}{2}\right) \Gamma\left(\frac{a}{2} - b + \frac{1}{2} + \left[\frac{i+1}{2}\right]\right)} \right] \\
 & (i, j = 0, 1, 2, 3; \Re(a - 2b - 2c) > -2 - 2j - j),
 \end{aligned}$$

Received February 3, 2004. Revised May 28, 2004.

2000 Mathematics Subject Classification: Primary 33C65; Secondary 33C60, 33C70, 33C05.

Key words and phrases: generalized hypergeometric series, Dixon's summation theorem.

where $[x]$ denotes, as usual, the greatest integer less than or equal to x throughout this paper. The coefficients $A_{i,j}$ and $B_{i,j}$ appear at the tables in the last section.

The aim of this paper is to give four general summation formulas and then their some special cases. The main results are as follows:

$$\begin{aligned}
 (1.2) \quad & 1 + \left(\frac{1}{2}\right)^2 \cdot \frac{1}{4} \cdot \frac{1}{(1+i)\left(\frac{5}{4}+i+j\right)1!} \\
 & + \left(\frac{1 \cdot 3}{2 \cdot 2}\right)^2 \cdot \left(\frac{1 \cdot 5}{4 \cdot 4}\right) \cdot \frac{1}{(1+i)(2+i)\left(\frac{5}{4}+i+j\right)\left(\frac{9}{4}+i+j\right)2!} + \dots \\
 = & \frac{2^{i+j-\frac{1}{2}} \Gamma(1+i) \Gamma\left(\frac{5}{4}+i+j\right) \Gamma\left(\frac{1}{2}-i\right) \Gamma\left(\frac{1}{4}-i-j\right)}{\Gamma(i+j+1) \Gamma\left(\frac{3}{4}+i+j\right) \Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{4}\right)} \\
 & \cdot \left[\alpha_{i,j} \frac{\Gamma\left(\frac{1}{2} + \left[\frac{1}{2}(i+j+1)\right]\right) \Gamma\left(\frac{1}{2} + i + \left[\frac{1}{2}(j+1)\right]\right)}{\Gamma\left(\frac{3}{4}\right) \Gamma\left(\frac{3}{4} + \left[\frac{1}{2}i\right]\right)} \right. \\
 & \left. + \beta_{i,j} \frac{\Gamma\left(1 + \left[\frac{1}{2}(i+j)\right]\right) \Gamma\left(1 + i + \left[\frac{1}{2}j\right]\right)}{\Gamma\left(\frac{1}{4}\right) \Gamma\left(\frac{1}{4} + \left[\frac{1}{2}(i+1)\right]\right)} \right]
 \end{aligned}$$

$$(i = 0, j = 0, 1, 2, 3; i = 1, j = 0, 1, 2; i = 2, j = 0, 1, 2; i = 3, j = 0),$$

where the coefficients $\alpha_{i,j}$ and $\beta_{i,j}$ can be obtained by simply putting $a = b = 1/2$ and $c = 1/4$ in $A_{i,j}$ and $B_{i,j}$ given at the tables of the last section.

$$\begin{aligned}
 (1.3) \quad & 1 + \frac{1}{2} \cdot \left(\frac{1}{4}\right)^2 \cdot \frac{1}{\left(\frac{5}{4}+i\right)\left(\frac{5}{4}+i+j\right)1!} \\
 & + \left(\frac{1 \cdot 3}{2 \cdot 2}\right) \cdot \left(\frac{1 \cdot 5}{4 \cdot 4}\right)^2 \cdot \frac{1}{\left(\frac{5}{4}+i\right)\left(\frac{5}{4}+i+j\right)\left(\frac{9}{4}+i\right)\left(\frac{9}{4}+i+j\right)2!} + \dots \\
 = & \frac{2^{i+j-\frac{1}{2}} \Gamma\left(\frac{5}{4}+i\right) \Gamma\left(\frac{5}{4}+i+j\right) \Gamma\left(\frac{1}{4}-i\right) \Gamma\left(\frac{1}{4}-i-j\right)}{\{\Gamma(i+j+1)\}^2 \{\Gamma\left(\frac{1}{4}\right)\}^2} \\
 & \cdot \left[\gamma_{i,j} \frac{\Gamma\left(\frac{1}{2} + \left[\frac{1}{2}(i+j+1)\right]\right) \Gamma\left(\frac{3}{4} + i + \left[\frac{1}{2}(j+1)\right]\right)}{\Gamma\left(\frac{3}{4}\right) \Gamma\left(1 + \left[\frac{1}{2}i\right]\right)} \right. \\
 & \left. + \delta_{i,j} \frac{\Gamma\left(1 + \left[\frac{1}{2}(i+j)\right]\right) \Gamma\left(\frac{5}{4} + i + \left[\frac{1}{2}j\right]\right)}{\Gamma\left(\frac{1}{4}\right) \Gamma\left(\frac{1}{2} + \left[\frac{1}{2}(i+1)\right]\right)} \right]
 \end{aligned}$$

($i = 0, j = 0, 1, 2, 3; i = 1, j = 0, 1, 2; i = 2, j = 0, 1, 2; i = 3, j = 0$), where the coefficients $\gamma_{i,j}$ and $\delta_{i,j}$ can be obtained by simply putting $a = 1/2$ and $b = c = 1/4$ in $A_{i,j}$ and $B_{i,j}$ given at the tables of the last section.

$$\begin{aligned}
 & 1 + \left(\frac{1}{2}\right)^3 \cdot \frac{1}{(1+i)(1+i+j)1!} \\
 & + \left(\frac{1 \cdot 3}{2 \cdot 2}\right)^3 \cdot \frac{1}{(1+i)(2+i)(1+i+j)(2+i+j)2!} + \dots \\
 (1.4) \quad & = \frac{2^{i+j-1} \Gamma(1+i) \Gamma(1+i+j) \Gamma(\frac{1}{2}-i) \Gamma(\frac{1}{2}-i-j)}{\{\Gamma(\frac{1}{2}+i+j)\}^2 \{\Gamma(\frac{1}{2})\}^2} \\
 & \cdot \left[\epsilon_{i,j} \frac{\Gamma(\frac{1}{4} + [\frac{1}{2}(i+j+1)]) \Gamma(\frac{1}{4} + i + [\frac{1}{2}(j+1)])}{\Gamma(\frac{3}{4}) \Gamma(\frac{3}{4} + [\frac{1}{2}i])} \right. \\
 & \quad \left. + \zeta_{i,j} \frac{\Gamma(\frac{3}{4} + [\frac{1}{2}(i+j)]) \Gamma(\frac{3}{4} + i + [\frac{1}{2}j])}{\Gamma(\frac{1}{4}) \Gamma(\frac{1}{4} + [\frac{1}{2}(i+1)])} \right]
 \end{aligned}$$

($i = 0, j = 0, 1, 2, 3; i = 1, j = 0, 1, 2; i = 2, j = 0, 1, 2; i = 3, j = 0$), where the coefficients $\epsilon_{i,j}$ and $\zeta_{i,j}$ can be obtained by simply putting $a = b = c = 1/2$ in $A_{i,j}$ and $B_{i,j}$ given at the tables of the last section.

$$\begin{aligned}
 (1.5) \quad & 1 - \left(\frac{1}{2}\right)^2 \cdot \frac{1}{(1+i)1!} + \left(\frac{1 \cdot 3}{2 \cdot 2}\right)^2 \cdot \frac{1}{(1+i)(2+i)2!} - \dots \\
 & = \frac{\{\Gamma(\frac{1}{2})\}^2 \Gamma(1+i)}{\sqrt{2} \Gamma(\frac{1}{2} + \frac{1}{2}(i+|i|))} \\
 & \cdot \left[\frac{\eta_i}{\Gamma(\frac{3}{4} + \frac{1}{2}i) \Gamma(\frac{3}{4} + \frac{1}{2}i - [\frac{1}{2}(i+1)])} + \frac{\theta_i}{\Gamma(\frac{1}{4} + \frac{1}{2}i) \Gamma(\frac{1}{4} + \frac{1}{2}i - [\frac{1}{2}i])} \right]
 \end{aligned}$$

($i = 0, 1, 2, 3, 4, 5$), where the coefficients η_i and θ_i can be obtained by simply putting $a = b = 1/2$ in C_i and D_i given at the tables of the last section.

Note that the special case of (1.1) when $i = j = 0$ reduces immediately to the classical Dixon's theorem (cf. [5, p.250, Eq.(4)]. Some interesting summation formulas due to Ramanujan (see [2, p.24, Entry 7, Examples 16-19]) are easily derivable as some special cases of our main results.

2. Derivation of the summation formulas (1.2) to (1.5)

In order to prove (1.2), if we take $a = b = 1/2, c = 1/4$ in (1.1), we see that the resulting left-hand side is

$$\sum_{k=0}^{\infty} \frac{\{(\frac{1}{2})_k\}^2 (\frac{1}{4})_k}{(1+i)_k (\frac{5}{4} + i + j)_k k!},$$

which is just the left-hand side of (1.2). Also it is seen that the resulting right-hand side of (1.1) in taking $a = b = 1/2, c = 1/4$ corresponds to the right-hand side of (1.2).

In the exactly same manner, the formulas (1.3)–(1.5) can be obtained.

3. Special cases

Now we will record some of the special cases of (1.2) to (1.5). Setting $(i, j) = (0, 0), (0, 1), (1, 0)$ in (1.2), (1.3), (1.4), and $i = 0, 1, 2$ in (1.5), we obtain

$$(3.1) \quad 1 + \frac{1}{5} \left(\frac{1}{2}\right)^2 + \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 \cdot \frac{1 \cdot 5}{5 \cdot 9} + \dots = \frac{\pi^2}{4 \{\Gamma(\frac{3}{4})\}^4}$$

$$(3.2) \quad 1 + \frac{1}{9} \left(\frac{1}{2}\right)^2 + \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 \cdot \frac{1 \cdot 5}{9 \cdot 13} + \dots = \frac{5\pi^2}{18 \{\Gamma(\frac{3}{4})\}^4} - \frac{5}{9\pi}$$

$$(3.3) \quad 1 + \frac{1}{9 \cdot 2} \left(\frac{1}{2}\right)^2 + \frac{1}{3} \cdot \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 \frac{1 \cdot 5}{9 \cdot 13} + \dots = \frac{5\pi^2}{9 \{\Gamma(\frac{3}{4})\}^4} - \frac{40}{9\pi}$$

$$(3.4) \quad 1 + \frac{1}{5^2} \frac{1}{2} + \left(\frac{1 \cdot 5}{5 \cdot 9}\right)^2 \frac{1 \cdot 3}{2 \cdot 4} + \dots = \frac{\pi^{5/2}}{8\sqrt{2} \{\Gamma(\frac{3}{4})\}^2}$$

$$(3.5) \quad 1 + \frac{1}{5 \cdot 9} \frac{1}{2} + \frac{1 \cdot 5}{5 \cdot 9} \frac{1 \cdot 3}{2 \cdot 4} \frac{1 \cdot 5}{9 \cdot 13} + \dots$$

$$= \frac{5\pi^{5/2}}{32\sqrt{2} \{\Gamma(\frac{3}{4})\}^2} - \frac{5\pi^{3/2}}{48\sqrt{2} \{\Gamma(\frac{3}{4})\}^2}$$

$$(3.6) \quad 1 + \frac{1}{9^2} \frac{1}{2} + \left(\frac{1 \cdot 5}{9 \cdot 13} \right)^2 \frac{1 \cdot 3}{2 \cdot 4} + \dots$$

$$= \frac{25 \pi^{5/2}}{96 \sqrt{2} \{\Gamma(\frac{3}{4})\}^2} - \frac{125 \pi^{3/2}}{288 \sqrt{2} \{\Gamma(\frac{3}{4})\}^2}$$

$$(3.7) \quad 1 + \left(\frac{1}{2}\right)^3 + \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^3 + \dots = \frac{\pi}{\{\Gamma(\frac{3}{4})\}^4}$$

$$(3.8) \quad 1 + \frac{1}{2} \left(\frac{1}{2}\right)^3 + \frac{1}{3} \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^3 + \dots = \frac{\pi}{\{\Gamma(\frac{3}{4})\}^4} - \frac{4 \{\Gamma(\frac{3}{4})\}^4}{\pi^3}$$

$$(3.9) \quad 1 + \frac{1}{2^2} \left(\frac{1}{2}\right)^3 + \frac{1}{3^2} \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^3 + \dots = \frac{2\pi}{\{\Gamma(\frac{3}{4})\}^4} - \frac{24 \{\Gamma(\frac{3}{4})\}^4}{\pi^3}$$

$$(3.10) \quad 1 - \left(\frac{1}{2}\right)^2 + \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 - \dots = \frac{\sqrt{\pi}}{\sqrt{2} \{\Gamma(\frac{3}{4})\}^2}$$

$$(3.11) \quad 1 - \frac{1}{2} \left(\frac{1}{2}\right)^2 + \frac{1}{3} \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 - \dots = \frac{\sqrt{2\pi}}{\{\Gamma(\frac{3}{4})\}^2} - \frac{2\sqrt{2} \{\Gamma(\frac{3}{4})\}^2}{\pi^{3/2}}$$

$$(3.12) \quad 1 - \frac{1}{3} \left(\frac{1}{2}\right)^2 + \frac{1}{6} \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 - \dots = \frac{16\sqrt{2\pi}}{9 \{\Gamma(\frac{3}{4})\}^2} - \frac{16\sqrt{2} \{\Gamma(\frac{3}{4})\}^2}{3\pi^{3/2}}$$

It is remarked that (3.1), (3.4), (3.7), and (3.10) are known results due to Ramanujan, which are recorded in [2, p.24, Examples 16–19] as noted in Section 1.

4. Tables of special values of the coefficients $A_{i,j}$ and $B_{i,j}$, and Tables of C_i and D_i

SPECIAL VALUES OF $A_{i,j}$

$$A_{0,0} = A_{1,0} = -A_{0,1} = 1; \quad A_{1,1} = c - a - 1;$$

$$A_{0,2} = \frac{1}{2} \{ (a - b - c + 1)^2 + (c - 1)(c - 3) - b^2 + a \};$$

$$A_{0,3} = 3ab + c(a - b - c + 4) - (a + 1)(a + 2) - (a - 1)(b - 1);$$

$$A_{1,2} = a(a - 1) + (b + c - 3)(c - 2a - 1);$$

$$A_{2,0} = \frac{1}{2}(a - 1)(a - 4) - (b^2 - 5a + 1) - (a - b + 1)(b + c);$$

$$A_{2,1} = (b - 1)(b - 2) - (a - b + 1)(a - b - c + 3);$$

$$A_{2,2} = \frac{1}{2}(a - c + 2)(a - 2b - c + 5) \{ (a - c + 2)(a - 2b + 2) - a(c - 3) \} - (b - 1)(b - 2)(c - 2)(c - 3);$$

$$A_{3,0} = 5a - b^2 + (a + 1)^2 - (2a - b + 1)(b + c).$$

SPECIAL VALUES OF $B_{i,j}$

$$B_{0,0} = 0; \quad B_{0,1} = -B_{1,0} = 1;$$

$$B_{0,2} = B_{2,0} = -2; \quad B_{1,1} = a - 2b - c + 3;$$

$$B_{0,3} = (a + 2)(a + 4) - b(2a + 5) - 3c(a - b - c + 4) + 3;$$

$$B_{1,2} = - \{ (a - b - c + 2)(a - b - c + 3) - (b - 1)(b - c + 1) \};$$

$$B_{2,1} = - \{ (b - 1)(b - 2) - (a - b - 2c + 5)(a - b - c + 3) \};$$

$$B_{2,2} = -2(a - c + 2)(a - 2b - c + 5);$$

$$B_{3,0} = -a + 3b^2 - (a + 3)^2 + (2a - 3b + 5)(b + c)$$

TABLE OF C_i

$$C_0 = 1 = -C_1; \quad C_2 = 1 + a - b; \quad C_3 = 3b - 2a - 5;$$

$$C_4 = 2(a - b + 3)(1 + a - b) - (b - 1)(b - 4);$$

$$C_5 = -4(6 + a - b)^2 + 2(b + 11)(6 + a - b) + b^2 - 13b - 20.$$

TABLE OF D_i

$$D_0 = 0; \quad D_1 = 1; \quad D_2 = -2;$$

$$D_3 = 2a - b + 1; \quad D_4 = -4(a - b + 2);$$

$$D_5 = 4(6 + a - b)^2 + 2(b - 17)(6 + a - b) - b^2 - b + 62.$$

ACKNOWLEDGEMENTS. Authors should like to express their deep gratitude for the referee's very helpful comments to improve this paper.

References

- [1] W. N. Bailey, *Generalized Hypergeometric Series*, Cambridge University Press, Cambridge, 1935.
- [2] B. C. Berndt, *Ramanujan's Notebooks, Part II*, Springer-Verlag, New York, 1987.
- [3] J. L. Lavoie, F. Grondin, and A. K. Rathie, *Generalization of Whipple's theorem on the sum of a ${}_3F_2$* , J. Comput. Appl. Math. **72** (1996), 293–300.
- [4] J. L. Lavoie, F. Grondin, A. K. Rathie, and K. Arora, *Generalization of Dixon's theorem on the sum of a ${}_3F_2$* , Math. Comp. **62** (1994), 267–276.
- [5] H. M. Srivastava and J. Choi, *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, Boston, and London, 2001.

JUNESANG CHOI, DEPARTMENT OF MATHEMATICS, COLLEGE OF NATURAL SCIENCES, DONGGUK UNIVERSITY, KYONGJU 780-714, KOREA
E-mail: junesang@mail.dongguk.ac.kr

ARJUN K. RATHIE, SHALOO MALANI, AND RACHANA MATHUR, DEPARTMENT OF MATHEMATICS, DUNGAR COLLEGE, BIKANER-334 001, RAJASTHAN STATE, INDIA
E-mail: akrathie@rediffmail.com